=LPDB

*UXSD S5RINiDG

-5

/7  7\J

o
™
=
n
oD
D
™
o3
=
)
7\G] 7\G] 7\G]
= \IZDUJDQIH NRVPHNNyZ GU *LUHN = \IZDUJDQIH NRVPHNyZ GU *IUHN 7RPDV] =DICFID 36: Z GU6IHPIRQ 3UJHP\ViDZ
7RPDV] $% .5 & RQIH .5 & SIRI 8- =DICFDRQUGH = 5
7\6] —— — -
-RVPHIRIRIID XSIENVIDIGFD ,, 6XUJIH) 7\6]
*HP]D $JQHVIND =DICFLD RQ XQH = \IZDUIDQIH NRVPHNyZ GU *WHN 7RPDV] $
g .5 = .5 &
T
o 7\6] 7\6]
> = \IZDUJDQIH NRVPHANyZ GU *UUHN 7RPDV] $ 36: Z GUBIHPIRQ 3UJHP\ViDZ
.5 & SIRI 8-" =DICFDRQUCH = 5
7N — —— -
-RVPHIRIRIID XSIENVIDIGFD ,, 6XUJIH) 6]
*HP]D $JQHVIND =DICFLD RQ XQH 36: Z GU6IHPIRQ 3UJHP\ViDZ
.5 = SIRI 8- =DICFDRQUQH = 5
z .5 z - z
| | |
7N 7\6]
CI\WRER\ .5 = = \IZDUJDQIH NRVPHANyZ GU *UHN 7RPDV] $
.5 &
a
(=)
X 7\G]
o = \IZDUJDQIH NRVPHNyZ GU *UUHN 7RPDV] $
I ) &
T
[og
7\G]
= \IZDU]DQIH NRVPHINyZ GU *IUHN 7RPDV] $%
) &




